[image: image29.wmf]2

1

3

[image: image30.wmf]5

4

5



[image: image31.wmf]
[image: image32.wmf]5

4

5


[image: image33.wmf]2

1

3


	
	
	Set 1
	Set 2
	Set 3
	Set 4
	Set 5
	Set 6
	Set 7
	Set 8
	Set 9
	Set 10

	1
	Indices
	
	
	
	
	
	
	
	
	
	

	2
	Finding the nth term
	
	
	
	
	
	
	
	
	
	

	3
	Multiplying decimals
	
	
	
	
	
	
	
	
	
	

	4
	+, - and X fractions
	
	
	
	
	
	
	
	
	
	

	5
	Rearranging a formula
	
	
	
	
	
	
	
	
	
	

	6
	Angles
	
	
	
	
	
	
	
	
	
	

	7
	Calculating the mean
	
	
	
	
	
	
	
	
	
	

	8
	Ratio
	
	
	
	
	
	
	
	
	
	

	9
	Product of prime factors
	
	
	
	
	
	
	
	
	
	

	10
	Calculating with percentages
	
	
	
	
	
	
	
	
	
	


	Revision Set 1

	1
	Simplify  2a5 x 4a2
	

	2
	Find the formula for the nth term of this sequence   6, 11, 16, 21, ….
	

	3
	Evaluate 0.7 times 0.4
	

	4
	Work out the value of  
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	Make x the subject of y  = 2x + 7
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	8
	Adrian made a fruit juice made with 9 parts orange, 4 parts lemon & 2 parts grapefruit.  If he makes 2 litres of fruit drink, how much orange juice does he need?
	

	9
	Write 50 as a product of its prime factors
	

	10
	Before a sale with 30% off, a shirt costs £21. How much did it cost in the sale?
	

	Revision Set 2

	1
	Simplify    a10
                a5
	

	2
	Find the formula for the nth term of this sequence   4, 7, 10, 13, ….
	

	3
	Evaluate 0.3 times 0.5
	

	4
	Work out 
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	Make x the subject of y = 3x - 7
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	8
	split £150 in the ratio 3:5:7
	

	9
	Write 96 as a product of its prime factors
	

	10
	Before a sale with 25% off, a shirt costs £18. How much did it cost in the sale?
	


	Revision Set 3

	1
	Simplify: 5y5 x 5y3            
	

	2
	Find the formula for the nth term of this sequence   1, 4, 7, 10, ….
	

	3
	Evaluate 0.4 times 0.6
	

	4
	Work out the value of  
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	Make x the subject of y = 2x + 5
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	8
	A firm uses 1st and 2nd class stamps in the ratio 9:1. During the week they use 250 stamps altogether. How many 1st class stamps do they use?
	

	9
	Write 120 as a product of its prime factors
	

	10
	An item costing £28 increases in value by 15%, how much does it now cost?
	

	Revision Set 4

	1
	Simplify 3p2 x 3p6
	

	2
	Find the formula for the nth term of this sequence   5, 9, 13, 17, ….
	

	3
	Work out 28 times £8.12
	

	4
	Work out the sum of  
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	5
	Make x the subject of y = 5x + 6
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9
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frequency
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9

0
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	8
	split £20 in the ratio 1:3
	

	9
	Write 60 as a product of its prime factors
	

	10
	A tv costs £212 excluding VAT. How much does the tv cost including VAT?
	

	Revision Set 5

	1
	Simplify 1012 x 107  

                  102
	

	2
	Find the formula for the nth term of this sequence   2, 8, 14, 20, ….
	

	3
	Evaluate 0.15 times 0.5
	

	4
	Work out the difference between  
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	Make x the subject of y = x2 + 5
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	8
	Vicki and Fred share the winning from a raffle in the ratio of 7:3. If Vicki wins £15, how much does Fred win?
	

	9
	Write 48 as a product of its prime factors
	

	10
	An item costing £240 increases by 25%, how much does it now cost?
	

	Revision Set 6

	1
	Simplify y5 ÷ y2            
	

	2
	Find the formula for the nth term of this sequence   20, 17, 14, 11, ….
	

	3
	Work out 3.4 times 6.8
	

	4
	Work out the value of  
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	Make x the subject of y = 3x + b
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	9
	Write 80 as a product of its prime factors
	

	10
	An item costing £25 decreases its value by 10%. How much does it now cost? 
	

	Revision Set 7

	1
	Simplify: 4m2 x 5m6  

                  10m3
	

	2
	Find the formula for the nth term of this sequence   5, 7, 9, 11, ….
	

	3
	Evaluate 0.3 times 0.3
	

	4
	Work out the value of  
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	Make x the subject of y = 2x + 5
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60-70

70-80

80-90

frequency

15

23

28

17


	Estimate the mean 


	8
	Maureen and Sheena’s earnings are split in the ratio of 3:5. They earn £240 altogether. How much does Sheena earn?
	

	9
	Write 140 as a product of its prime factors
	

	10
	An item costing £320 increases its value by 20%. How much does it now cost?
	

	Revision Set 8

	1
	Simplify 4a2 x 3a5         
	

	2
	Find the formula for the nth term of this sequence   1, 8, 15, 22, ….
	

	3
	Work out 3.4 times 72
	

	4
	
Work out the value of       subtract   
	

	5
	Make x the subject of y = 4x - b
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	9
	Write 72 as a product of its prime factors
	

	10
	An item costing £28 decreases its value by 15%. How much does it now cost?
	

	Revision Set 9

	1
	Simplify 
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	2
	Find the formula for the nth term of this sequence   1, 4, 9, 16, ….
	

	3
	Evaluate 0.8 times 0.6
	

	4
	Work out the value of  
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	Make x the subject of y = 2x + 5
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	6
	What is the sum of the interior angles of a quadrilateral?

	

	7
	x

0-5
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frequency

3

8

5
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	8
	The angles in a triangle are in the ratio of 1:2:3. what are the sizes of the angles?
	

	9
	Write 100 as a product of its prime factors
	

	10
	An item costing £32 decreases its value by 35%. How much does it now cost?
	

	Revision Set 10

	1
	Simplify y5 x y7         
	

	2
	Find the formula for the nth term of this sequence   3, 7, 11, 15,….
	

	3
	Work out 0.24 times 48
	

	4
	Work out the value of  
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	Make x the subject of y = 3x – 2b
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	9
	Write 250 as a product of its prime factors
	

	10
	An item costing £28 increases its value by 17½%. How much does it now cost?
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